Puzzle 8998 - Saturday, 10 May, 2014 - Difficulty 3

8 1 7 | sy
7|13 |4|9|5|[6|2]|8
:{4’””::::::1 ;5’::: ’4’,:113 i | éff::,: "1’4:1113 i’{””ffffff,
48511621973
2 1 R N L IR R 1
912163 (8 7fF4 15
% l,iiii:: : ‘ k17£‘;:il i ‘1’5’:;: ‘ ‘f::ff,
8 7:34:i5132}i6“1113 9
Hf::,: :1747::1 :::: i k172i:1 ‘ fff,i:: :{_{:’(’1’2’111:
619127131854
S N EV S KTl IR TS KX AN
3]5]1]9/4/8]2]6]7
2 /4/9]6/5/3]7|8]1
4 10 1T 18 14 1 10|
13 |8|2)79|5]4|6
;’1’"”:::, :|’5f" ffffff,‘ : | ’7’,::,:::, i’{"”ffffff,
56781174379 2

Copyright (c) www.dailykillersudoku.com




